Differential Equation Answers
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8.

(a) By the behaves according to the law:
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(b)
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10.

By 9. we know that the half-lift of Carbon 14 is 5230 years.

So  
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(b) 12%=
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(c) 2%=
[image: image27.wmf]e

e

r

t

t

t

r

)

325

.

1

(

0

10

)

(

4

-

´

-

-

=

=

l


     =>
[image: image28.wmf]years

t

7

.

29524

)

325

.

1

(

10

ln

4

02

.

0

»

´

-

=

-


(d) 98%=
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1—2

2.

We want to find what 
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(c is constant)
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(c is constant)
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  (c is constant)

And by the initial condition 
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so the solution is 
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